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7]1%9] AYol7F 901.18cm? & w], Y7]59] o]

|

U] Yol)=7x 7 x 3.14 = 153.86( cm?)
Ao Yol)=7x2x3.14x[ |=43.96x] |
Zylo]) = 153.86 x 2 + 43.96 x|_| = 901.18

[ ]=(901.18 - 307.72) + 43.96
= 593.46 + 43.96 = 13.5( cm)
wretA] 97159 =olE 13.5cm YT




5. TR F Rzt Abg Ae AR o AU

@® AF°] 4cm ©]1L, E=°]7t 6cm Q1 ¥71E
@ ®BF21E°] 3em ©], =17k 3em Q1 Y715
® g 2AZ7t6cm S HSHA
@)zt seem? A BT

® WHO Y57 314cm ©]1, =0]7F3cm ¢ 975

~&B

@D 2x2x3.14%x 6 = 75.36( cm?)
@ 3x3x3.14x 3 =84.78(cm?)
® 6x6x6=216(cm?)

@ 3t mAE] o] ZolE | Jem 2} bW

[ Ix[ Ix6=54] |x[ =9 ]=3

b Huls 3 x 3 x 3 = 27(em®) @Y th

® @Ho gtz 50] 31.4 + 3.14 + 2 = 5(cm)

o|lB 2 Hull 5x5x3.14 x 3 = 235.5( cm®) YU Tt




6. THe I ol &o| Y U5 BulE AL,

(22 97)5 0] Ha))

= 7x7x3.14 % 30 = 4615.8( cm®)
(= 47)50] m)

= 2% 2x3.14 X 30 = 376.8( cm?)
(%ol ¥ 97)59] 2))

= 4615.8 — 376.8 = 4239( cm®)
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8. ol Bof Ak upPU Sl BA F 5% 7t vt o] RAL &
2} up 7 o B0 v S Fha 2kt Apel4o] ]2 LehAlL,

>

> =ehl 19:1

FHe] FAl= AA19] 100 - 5 = 95( %) .
95:5=(95+5): (5+5)=19:1
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_-2cm - _

lcm

no

| 2
> ®eh 12.56 cm?

@715 0] 18+ FE3F Wol FHo] &2 Holet 7] wfio]
FuolE ey rh
(FYlo]) = Z]Ex 3.14x &°|

=2x3.14x 2 = 12.56( cm?)
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3+2+14+2+2+1=11(7)




